THE OPEN UNIVERSITY OF SRI LANKA . 00168
BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME -

FINAL EXAMINATION — NOVEMBER 2010
MCU 2207 - MACRO ECONOMICS
DURATION : THREE (03} HOURS

Date : 07" November 2010 Time : 9.30 a.m — 12.30 p.m
- Answer part A and any four (04) questions from part B
Part- A
1.(a) Why a sound knowledge in Macro Economlcs is important for a business
manager? Explain with examples. (09 Marks)
(b) Details of a three sector economy are given below. ﬂ-ﬂ-;gr:::m .
C = 48+0.8Y4( Consumption Expenditure}) s A8 J._‘i,\_
I = 64 (Investment Expenditure) P
G 72 ( Government expenditure) i .
T =10 (Taxes) ({ (17 aus 2o
Figures in Rs. Billions | N \: s ::}\“- R ,"
L A oo Unive oy 02
i Find the equilibrium National Income. sl B
ii. Calculate three sectors Expenditure Multiplier. '
1ii. Suppose in addition to autonomous tax of Rs.10 billion, government
introduces an income tax of 10% and a Transfer payment of Rs. 8§ billion
( TR=8)
Find the equilibrium National Income.
iv. Suppose the government opens the economy and following changes take
place.
X=48 (Exports)
M=24+0.2Y (Imports)
Find the equilibrium National Income.
V. Calculate four sectors Expenditure Multiplier. (15 Marks)

(c) 1) Suppose the full employment level of output of an economy is Rs. 5200
. billion, but the economy currently producing an output worth Rs. 5000
billion. If the Marginal Propensity to Save is 0.2(M.P.S.=0.2), by how
much should the government change its expenditure to generate full
employment level of output.

ii)  Instead of expenditure if government changes taxes how should the tax be
adjusted to generate full employment.

(06 Marks)
(d) Define the following terms.
. (Gross Domestic Product.
ii. Gross National Product.
iii. Net Factor Income from abroad. (06 Marks)

(Part A- Total 36 Marks)



Part- B | | 00168

2. (a)  With the help of IS/LM framework explain, how the expansionary &
‘concretionary, Fiscal and Monetary policies influence the interest rate and
income level of a given economy. Use illustrations.

(08 Marks)

(b) i. Under what condition will the LM curve be Perfectly Inelastic?
ii. When LM curve is vertical, what policies, Fiscal or the Monetary policies that
are more effective in changing income level 7 (08 Marks) .

3. (a) Explain the following.
1. Quantity Theory of Money.
ii. Keynesian Monetary Transmission Mechanism. - (06 Marks)

(b) How do Keynesians and Monetarist .describe the relationship between the money
supply and the price level? Explain using illustrations. (10 Marks)

“4, (a) Distinguish between Demand —Pull and Cost-Push inflation. Use illustrations.
' : (06 Marks)

(b) What is the impact of high inflation on an economy of a country? Explain
referring to Sri Lankan economy. (10 Marks)

5. .(a) Explain the followings. '
i. Natural Rate of Unemployment. '
ii, Labour Force participation Rate : (05Marks)

~ (b) What is meant by erclical Unemployment?
What steps should be taken to reduce the extent of Cyclical Unemployment?
(06 Marks)

(¢} “Government policies and regulations such as minimum wages and better
working conditions create unemployment. Explain using illustrations.

(05 Marks)
6. (a) What are the limitations in estimating National Income? Explain referring to Sri
Lankan economy. (06 Marks)
(b) “ Fiscal policy is a powerful instrument of economic stabilization” . Discuss .
(10 Marks)
7. (a) Distinguish between “ Economic Growth” and “ Economic Development”.
(06 Marks)

(b) “ Economic growth does not reflect the actual economic wellbeing of a country”
. Discuss with the examples.
(10 Marks)

All Rights Reserved .
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1(a) o elumury (pETabwrsThEE GuflamQuTEsT STy SSmeariLmsi
(Macro Economics) finbs onfley gsir (pdaluiomeng? o_sTyswmibisesL s Sl BITEh @ th,
- (09 Lsireimsi)
() oo wam Hep GurgsmrsyssHs (three sector economy) eflupiissi &6 sruuHsie.
C=48+0.8Y; potayr Goevsy (Consumption expenditure)
I =64 wsadpsst Qeavey (Investments expenditure)

G= 72 oys GrFeoaysst (Government Expenditure)
T=10 auflmsit (Taxes) |
( Oarensset Nsbsdiweh ghUNIGBSE6Ts)
i Bpdlw augurasglar s Hae bl sHlanard (equilibrium level)  siemis.
ii. sl mismpaETT QFeell GU Qu@basaiaads (Three sector Expenditure
Multiplier) sewlinfiEas.
iii. SFFTEGD muT. 10 soasiwielr Hwird fuwmer sufluy_edr, {autonomous tax) 10%
s swflullemsonyb (Income tax) gL, 8 (Nebadlutedr 1owiHMmsDh
Gusr@lueneyssmenyb (Transfer Payment (TR = 8) ey Gawiunmufsir,
Gmflw sumorshas #0 P 1l LSHEeme & Srems.
iv. S EFMRED GUTETETTSHAmen HPUUEL a1, (Naiisumb
WIHDARIGELD L GunElsimar sd HEHBH6]D.
X = 48 (ghmiogilsst)
M =24+ 0.2Y (Bps@inglss)
Gorfll eupomenbhalsil Fo Hlaney WL L. SHElmends Sirams.
V. BTt genpari Fall§ Qupsssslamens (Four sector Expenditure
Multiplier) sansags. {15 veirarflassir)
(€ )i) @ Gur@enTETISS Bap Gsmds vl Gaeuig (Full employment level) gruim. 5200
Usbeuislr ysellpba@d QurpE, o ammw Gaefuil @ wiiib (actual level of out put)
@ur. 5000 ebellel symaEiangl slands Qareianeyb. sedemsy GeAly mrLib 0.2 (Marginal
Propensity to Save) (M.P.8 = 0.2) eysallmhars, Hlam Gemfsd el Gaaluil genams
Comhmefushara oFmish S Oraalmbas asiarmIa THHUEmaE el

Geuemi(B1D.
(i) aysmisn Gesvslahms wMHDIG, suflGms WMHBD Geriioresd, aflEmen T 1)
wrhmb Qe GeausmEhn? {06 usierflesi)

(d) Ijéﬁmn@m OFrpeamsn  afluflagas.

i. Guords 2 epr@ o f{mugs (Cross Domestic Product)
ii. Gorhs 6HAw = _muss (Gross National Product)
iii. Ganiws Geuafipr G smyend eugwrand (Net Factor Income from abroad)

{06 ysaritasai)
LGS & ~ 36 Gorssn Lsiallssi)
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2. (@) ISLMelLagdld o salus, selamy @6 OUIGETEITSES sy aisb,
sUGIOMsT IDLLID syAluabflear g o p@ure efiflarss Sysgemuyb, oS DHgD Usms
QamsiensEat (expansionary & concretionary Fiscal and monetary policies) Orebaurs@F
CFpnbpislemen? alenasiun fsmenl LW UESEHs.
(08 vLjsimefiEei)
(b) i srsisurmTen  Blansoanoulsy LM suenenud, flenpey Qpapédumpsrsamaein
(perfectly inelastic)? :
if. LM avamsmul  Gamigsonsalpsan QuTapg!, sugsomsr WLLAFlemer Wmbhm  ehHs
QETETMGSEET - DITFHIEND oG uems Qsrsiands Qareaiensassi (Fiscal or
Monetary policies) - Bsand vwsLTBaTETHTSaNHSE;D?.
(08 sherflser)
3. (a). Ussumuenaubpilanan eflendes. .
i Lemd Gsransd Gsmiun@ (Quantity Theory of Money)
ii. GlsuiiGamewiaisn veaml ufombn Guiepsnn (Keynesian Monetary Transmission
Mechanism) . (06 siterilaatr)
(b). uemr mlyibush, eflemsv wiiLb (Money Supply and the price level) syslweupniar GQsrLdNaner
Keynesians and Monetarist sisisur sfuflds@alemen? sflsrmdssuL bisenl_si e & EheE.
_ : (10 ysiisaer)
4. (a) Gasitellg gmawn_ed (Demand — Pull), usmg Ereiisd Lamalshasn (Cost —Push inflation)
SyElwsBmlafsnL Guwiu jsitsm BanpunGoemen afufls@s. aflsnabai misamer LGB &l .
(06 yehiemst)

(b) 96 Brigst QuUIGSTETTHAS S5 o Wit Usmmeiisdasir (high inflation) @&ré&sb wrg?
Beomimasuwilssr QUIGETTHTISMHMmenG CETaiE oo, {10 uysieflasit)

5. (a8) a@peugpuemsubailenan eflsmdses.
i. Gouemeuulsusumenulicr @wimans efgnb (Natural Rate of Unemployment)
ii. amfli uspLullsl  LwBsHy efsn (Labour Force participation rate)
(05 \sitefssin)
(b) Gaumeuissnoulss spoen b (Cyclical Unemployment) wrQseans
&HHENTT? Cormauismioulsr anpeul LHalar UTbUm GampLLSHE BTGUBUMTEN
BELalIQEEHaT aiBHH0 Balsmi@n?
(06 ysiefl@air)
(c) “ompps uls GusammssT, dnbhs Goume Mmssemioss Gurelp SIrFTRIGSHS
GlsreianEdEpd, algsend BsusmauissorsniouTlansmd Carbmssaslammpean”. alsnsal
UL_misamstd Onrem® allandgs.
, _ (053 yshafisen)
6. (8) Gzl amorabhms LHAUIBEHESTET aIanTLmDEsT Wirsner? VAL AN,
GurEeTTaIy Golmens CETai eflmbes. {06 veieflEsarr)

(b) “Qumepsnrerr 2 pE Bamamnse s Qoreens (fiscal policy) @@ #éghfles
SHENLITED” Y ymis, '
(10 ysireimsin)

7. (2) “Gurgenmmay eusmigd”, “GuUimmenTSy Sdellmsa’”  oyalusmsbalent B siar
GoupmIeomanend HIams, ' (06 ysitetilaseir)
(b) “GunmenTHT cuenitES @m HIC IS 2_eEEnIDLITEI EIUTEEEMTSHT  [HEemEL]
Wrsluefiliuglsbensn™, o GIremmisEhL e oL,
(10 sirefmsain)

(gl fleaniow e wig)



